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On 7ymnbin it is9mm to do some manon, and Mox to do
others. Most mww (mavin, the '~ and the 0"anA) hold that
while 1ymnlbin itsef is (of course,) NN, asthe Xy says
(.rolh»an), the oonon were yap as to which manon were mon.
Therefore, it is an pa77hon to perform an unnecessary Naxon
on Tymndin. The 9 however, learns that (an unnecessary)
nanon on Tymnbin is an xaxhon. The qovliva quotes the
qovpm who brings down the y'an that says anws can be
made: any noxon that isnot a Taxnhat and is not Tymnlnyd is
an W Thon. But unless these two conditions are met, it is
an yav1hon. In any case, al muw agree that unless anaononis
7ymnlmyy, and is either a 1axnlhaT, or aoaslhmy, or being
done by a person who without the wages paid for the naxon will
not have what to eat, the noxon is ox to be performed.

If anonon is vmnlxy, but isneither a vaxnlhaT, or a»
D19, or acase of a person not having enough to eat, it can only
be doneif the nanon in question is a vy nlhwyn. A vyTRlhwyn
means that any person can perform the nax5n, and it does not
require any special skill.

A TannhaT isamm to be performed on 1ymnlbin. Therefore, a
ynownlbra can be watered on Tywnlbn provided that the
watering was started before 2yolby. Furthermore, it is only amm
when there is not nvmlknv and the water is easily accessible,
I.e, from a spring.

What is considered a 7annlhat? If the noxdn is not performed,



there will be aloss (either on 1ymnlbn, or afterwards). If there
will not be aloss, but thereis apotential gain, thisis not
considered a 7Tannlhat and may not be done on Tywnbn. If
there will be aloss, but there is nmlknv, the noxon is hox to
do. The 0"an and the v'~a learn that nonon IS Mox on SN
7901 because of an xnonox and is yarmlihox. The x"avn and
the y'an- however, both learn that if thereis not aTax[haT, or a
7ymnly, then anoxdn performed is an ko xhon.

It is mox to build drainage ditches on 1ymnlbin, even if there
will be a1oon asthereis xvmlknvo. To fix adrain isammn.

o3a7n59% may be done on ymnlbn, such asfixing roads. A
o2 such as building a noyalhra may not be done on 51
TN, asit is not necessary for the Tym.



